
01.When China builds a dam using few machines and a great deal of labor, it is answering the ________ question.
  

(A) how (B) where (C) what (D) for whom
02. An economic model is 

(A) a generalization that summarizes all the normative assumptions we make about a particular issue. 
(B) a description of some aspect of the economic world that includes only those features of the world that are needed for the purpose at hand.
 (C) a statement that describes how the world should be. 
(D) a collection of facts that describe the real world.
03. The state of Georgia offers  free college  tuition to high school students with a "B" average. In 2007, the state raised the requirement so that fewer students qualified for the scholarship.  At the same time, Georgia increased state spending on health care.  Suppose that college education is on the vertical axis and health care is on the horizontal axis of a PPF. These changes 
(A) are an example of incentives (B) will cause a shift out of the PPF. 

(C) are example of a tradeoff. (D) will cause a shift in the of the PPF 
04. A country that has a comparative advantage in producing capital goods will ________ a country that has a comparative advantage in consumption goods.
 (A) specialize in producing capital goods and trade with
(B) grow slower than 
(C) reap fewer of the gains from trade when it trades with 
(D) reap all of the gains from trade when it trades with 
05. Which of the following decreases the supply of restaurant meals? 

(A) Consumers' incomes increase and restaurant meals are a normal good 
(B) The price of movies, a complement to restaurant meals, falls. 
(C) The demand for restaurant meals decreases.
(D) Waiters get a pay raise.
06. In a supply and demand figure, the equilibrium price and quantity are found at the 

(A) vertical intercept of the supply curve. 
(B) horizontal intercept of the demand curve. 
(C) horizontal intercept of the supply and the demand curves. 
(D) point where quantity supplied equals quantity demanded. 
07. In the circular flow model of an economy with no government sector and no international trade, households 

(A) receive income from the sale of factors in the goods markets. 
(B) receive income from buyers of goods and services. 
(C) receive income from producers for the use of factors in the factor markets. 
(D) pay firms for the use of their factors. 
08. ________ gross domestic product is the value of ________ linked back to the prices of a single year.
(A) Nominal; total production 
(B) Real; total production 
(C) Productivity; the consumer price index 
(D) Real; production possibilities
09. Full employment occurs when
(A) structural unemployment is zero. 
(B) cyclical and frictional unemployment are zero. 
(C) cyclical unemployment is zero. 
(D) frictional unemployment is zero.
10. The ________ fluctuates more than does the ________.
(A) employment-to-population ratio; labor force participation rate 
(B) employment-to-population ratio; unemployment rate 
(C) labor force participation rate; unemployment rate 
(D) labor force participation rate; employment-to-population ratio
11. A problem with the neoclassical growth theory is its
(A) prediction that population growth lowers the real wage rate. 
(B) inability to explain persistent differences between countries' GDP growth rates. 
(C) comparison of the economy to a perpetual motion machine. 
(D) prediction that population growth raises the real wage rate.
12. The curvature of the production function shows that as employment increases, the productivity of labor
(A) decreases and becomes negative. 
(B) remains positive but decreases. 
(C) remains positive and increases. 
(D) remains constant.
13. Which of the following have a positive relationship with household saving?
I.
the real interest rate

II.
disposable income

III.
expected future income
(A) I, II and III (B) II only (C) I and II (D) II and III
14. The chain-weighted output index
(A) uses prices for the current year and the previous year to calculate growth in real GDP. 
(B) uses only the current year's prices to calculate growth in real GDP. 
(C) must be calculated only every other year. 
(D) is an inaccurate way to measure growth in real GDP and so has been replaced by the "nominal-to-real" index.
15. The opportunity cost of holding money is
(A) the price level. 
(B) the inverse of the price level multiplied by the interest rate. 
(C) real GDP. 
(D) the interest rate.
16. Money market mutual funds invest in
(A) commercial real estate. 
(B) residential mortgages. 
(C) highly liquid assets. 
(D) long-term government securities.
17. If the Fed wants to depreciate the U.S. dollar against the British pound, it will ________.
(A) decrease the money supply 
(B) sell British pounds 
(C) sell foreign exchange. 
(D) sell U.S. dollars
18.Initially the nominal exchange rate between the South Korean won and the U.S. dollar is 950 won per dollar.  If the nominal exchange rate increases to 1000 won per dollar and the U.S and Korean price levels do not change, the real exchange rate
(A) is less than before. 
(B) is the same as before. 
(C) is greater than before.
(D) More information is needed to answer the question.
19. When the price level increases, ________.
(A) real GDP remains constant 
(B) aggregate demand decreases 
(C) aggregate demand increases
(D) the quantity of real GDP demanded decreases
20. Which of the following shifts the aggregate demand curve rightward?
(A) an increase in the quantity of money 
(B) an increase in the exchange rate 
(C) a decrease in the price level
(D) an increase in the tax rate
21. When disposable income increases from $6 trillion to $6.5 trillion, consumption expenditure increase from $5.5 trillion to $5.9 trillion. The MPC equals
(A) 0.75 (B) 0.76  (C) 0.2  (D) 0.8

22. Suppose the consumption function is given by the equation C = 100 + 0.8YD, where YD is disposable income. What is the marginal propensity to save?
(A) 100 (B) 2.0 (C)0.2  (D) 0.8

23. If the federal government's tax revenues are greater than its outlays, then the federal budget has a
(A) deficit. (B) balanced budget. (C) transfer payment.(D) surplus.
24. The largest item of government outlays is ________.
(A) debt reduction 
(B) transfer payments 
(C) debt interest
(D) expenditures on goods and services
25. According to the new classical theory, ________ policy changes have no effect on real GDP and according to the new Keynesian theory, ________ policy changes have an effect on real GDP
(A) fiscal; monetar 
(B) unexpected; expected 
(C) expected; expected
(D) fiscal; fiscal
26. If the Fed responds to repeated decreases in the short-run aggregate supply with repeated increases in the quantity of money, the economy will be faced with

(A) alternating periods of inflation and deflation. 
(B) continuous inflation. 
(C) steady decreases in real GDP.
(D) a one-time increase in prices.
27. To conduct monetary policy the Fed can target
(A) neither the federal funds rate nor the monetary base. 
(B) both the monetary base and the federal funds rate simultaneously. 
(C) only the interest rate.
(D) either the federal funds rate or the monetary base.
28. The Fed lowers the federal funds rate. A mechanism through which aggregate demand increases is that the lower federal funds rate
(A) decreases other short-term interest rate, which decreases investment, thereby increasing aggregate demand. 
(B) decreases other short-term  interest rates, which increases investment, thereby increasing aggregate demand. 
(C) increases other short-term interest rates, which decreases investment, thereby decreasing aggregate demand.
(D) raises the exchange rate so that net exports decrease, which increases investment, thereby increasing aggregate demand.
29. In developing countries, there is more reliance on ________ as opposed to ________ for government revenue.
(A) tariffs; tax collection (B) tariffs; quotas 
(C) tax collection; tariffs (D) quotas; tariffs
30. Lowering the tariff on good X will
(A) have no effect unless the nation's trading partner also lowers its tariff on good X. 
(B) increase the domestic imports of good X. 
(C) increase domestic employment in industry X.
(D) increase the domestic price of good X.
31. To determine the effect a 25 percent increase in the price of apples has on the quantity of apples demanded, you must know the value of the
(A) price elasticity of supply. 
(B) income elasticity of demand. 
(C) price elasticity of demand.
(D) cross-elasticity of demand.
32. Demand is elastic when a price ________ results in total revenue ________.
(A) rise, decreasing 
(B) rise, increasing 
(C) fall, decreasing
(D) fall; remaining constant
33. Marginal benefit
(A) increases with increased consumption of a good. 
(B) is the additional cost to a consumer of consuming another unit of good. 
(C) reflects the maximum willingness to pay for another unit of a good.
(D) is the total benefit a consumer receives from consuming an assortment of goods and services.
34. Resource use is efficient if
(A) it is not possible to produce more of a good without giving up production of a good which is more highly valued. 
(B) the goods and services people value most highly are produced. 
(C) the marginal social benefit is equal to the marginal social cost of the last unit produced.
(D) All of the above answers are correct.
35. One of the best defenses we have against malaria these days comes from a fern-like weed called wormwood.  Fluctuating supply and demand have pushed the plant compound’s price from $155 per kilo one year, to over $1000 the next.  There is a push to set a price ceiling for the compound with world suppliers.  Which argument is true?

(A) The price ceiling makes malaria drugs less expensive so more people can be treated.  

(B) A price ceiling on malaria drugs could create black markets. 

(C) The price ceiling creates huge profits for drug companies.
(D) With a price ceiling, the market produces more malaria drugs.
36. A rent ceiling results in a shortage of apartments. As a result, there is
(A) a gain of both consumer and producer surplus. 
(B) a loss of both consumer and producer surplus. 
(C) only a loss of consumer surplus for tenants.
(D) only a loss of producer surplus for landlords.
37. The elasticity of supply for paintings by Monet is
(A) inelastic. 
(B) perfectly elastic.
(C) unit elastic.
(D) perfectly inelastic.
38. Between August 2007 and July 2008, Brazil exported more than 3.5 billion pounds of coffee to the rest of the world.  Because of this, we know definitively that:

(A) Brazil has comparative advantage in coffee production 
(B) Brazil has absolute advantage in coffee production

(C) The rest of the world has absolute advantage in coffee production
(D) The rest of the world has comparative advantage in coffee production
39. As an individual's consumption of a good increases,
(A) his or her marginal utility increases. 
(B) his or her total utility increases. 
(C) the price of the good increases.
(D) All of the above answers are correct.
40. Usharani consumes 35 apples a week and 14 loaves of bread. Apples cost $1 each and bread costs $2 per loaf. Usharani is maximizing his utility and finds that the marginal utility from his 35th apple
(A) is half his marginal utility from his 14th loaf of bread. 
(B) equals his marginal utility from his 14th loaf of bread. 
(C) is twice his marginal utility from his 14th loaf of bread.
(D) is such that his total utility from apples equals his total utility from bread.
41. The marginal rate of substitution is
(A) the rate at which a consumer will exchange a good for income holding prices constant. 
(B) the rate at which utility increases as the consumer increases purchases of a good, holding purchases of the other good constant.
(C) the rate at which the consumer will give up one good to get an additional unit of another good while remaining on the same indifference curve.
(D) None of the above answers is correct.
42. In order to determine a household's budget line, you must know the
(A) prices of the goods bought and the household's income.
(B) household's income, prices of the goods bought, and the household's preferences. 
(C) household's income, but not the prices of goods bought.
(D) prices of the goods bought, but not the household's income.
43. A market structure in which a small number of firms compete is called
(A) monopoly
(B) perfect competition. 
(C) oligopoly
(D) monopolistic competition.
44. In May 2008, Switzerland co-hosted the international soccer tournament Euro 2008.  At that time, the Swiss potato industry association had been warning there could be a fry shortage because there was a potato shortage.  The shortage meant that in the French fry market
(A) if the efficient quantity of fries is produced, total surplus would be minimized.
(B) if the inefficient quantity of fries is produced, total surplus would be maximized. 
(C) the price for French fries would be higher.
(D) the price for French fries would be lower.

45. Marginal cost  ________ as the quantity produced is increased.
(A) first decreases and then increases
(B) first increases and then decreases 
(C) always decreases
(D) always increases
 46. When marginal cost is greater than average total cost, the
(A) marginal cost decreases as output increases.
(B) average total cost decreases as output increases.
(C) average total cost increases as output increases.
(D) marginal cost does not change as output increases.
47. In the short run, a perfectly competitive firm's economic profits
(A) must be positive.
(B) might be positive, negative (an economic loss), or zero (a normal profit).
(C) must equal zero, that is, the firm earns a normal profit.
(D) must be negative, that is the firm must incur an economic loss.
48. A perfectly competitive firm's economic profit is maximized by producing the amount of output such that
(A) total revenue equals total variable cost.
(B) marginal revenue equals marginal cost.
(C) marginal revenue is equal to total revenue.
(D) total revenue equals total cost and marginal cost.
49. In the short run, a perfectly competitive firm
(A) chooses its optimal plant size.
(B) will always earn an economic profit.
(C) might not earn an economic profit.
(D) is in equilibrium only when its economic profit is positive.
50. Homer's Holesome Donuts has determined that its profit-maximizing quantity is 10,000 donuts per year. Homer's earns $12,000 in revenue from the sale of those donuts. Homer's has two costs. First he pays $16,000 in annual rental payments for its five-year lease on its store. Second Homer incurs an additional cost of $5,000 for ingredients. Homer's variable cost is equal to

(A) $21,000.
(B) $16,000.
(C) $0.
(D) $5,000.
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